PH 404 December 9, 2003

Name _________________________________  Box ________

A string streched between x=0 and x=36 cm  has the following displacement


y(x,t) = 0.40 cm cos ((x/(72 cm)) sin (20(t) .

This is a (  standing     travelling )   wave

At x=0 the string is (fixed free).    At x=36 cm the string is  ( fixed  free )

The mass per unit length of the string is 0.00045 kg/m.  Find the tension in the string.

What is the transverse velocity of a point on the string at x=10 cm and t=1 sec?

What is the maximum kinetic energy of a 1-mm long  section of the string at x=0?

What is the maximum kinetic energy of a 1-mm long section of the string at x=18 cm?

What is the total energy of the entire 36 cm of string?

